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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Glate e 140,118,456 119,997,833 20,120,623
= 717,000
Jl 7,850
= 139,393,606
A=Y 72,485,791 74,001,476 1,615,685
HEE THEXA 71,819,491 72,463,086 A643,59%
A85tl) SEH0 HE2E =4 889,948 669,561 220,387
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01 AtR2t2|HI 354,900 354,900 0
OAEME 28 FAet ?I3d 28 S 90,900
Ollatglldl NdlE & SRIZAIE 28 S 9,000
O0l&tA X} I S 255,000
202 04l 100,000 0 100,000
04 =NI2t01H] 100,000 0 100,000
OME Rz A 100,000
203 g2l 17,100 17,100
03 A= PR FA| 17,100 17,100
AN 2E gFR=A 17,100
204 MR AH| 59,400 57,600 1,800
2 SELREH 59,400 57,600 1,800
oulateg = 59,400
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18 SIS0t 4 A A A 237,077 67,376 169,701
OXNZuRA NS 2e|AAE K2 67,376
OXNEHE 2e|AMAE S22 169,701
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02 SISOt =2 A A E A I 121,471 172,585 A51,114
OSEXNLMEANLE HHSPAIAYE 7= 121,471
et R0 2EFA 23,800 23,800 0
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01 AtR2t2lHl 84,280 84,280 0
OXgExs 2el?de 29 S 70,000
ONgExEZ EXMET 1s 14,280
A= HE X2 69,234,000 69,933,000 699,000
308 XXM SO0IH 69,234,000 69,933,000 699,000
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SA HlatE g2
T ol
cl: oldigl 22 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol 2 51,380,275 43,154,765 8,225,510
= 717,000
Jl 7,850
= 50,655,425
801 GdiHI8l 51,380,275 43,154,765 8,225,510
= 717,000
Jl 7,850
= 50,655,425
01 gtoiiblgl 30,000,000 27,500,000 2,500,000
OZeHoiblbl 30,000,000
02 XHoH - =X oid1H| 10,000,000 10,000,000 0
OMal - e =X olidlb 10,000,000
B UHFRES 11,380,275 5,654,765 5,725,510
O2zlrE3 11,380,275
= 717,000
7l 7,850
= 10,655,425
Hees(oaeg) 16,151,962 2,745,364 13,406,598
WeHeHXIE(0l& S 2 16,151,962 2,745,364 13,406,598
SEMEHE|I= tl== s ot 16,151,962 2,745,364 13,406,598
705 tl==dclsatet 16,151,962 2,745,364 13,406,598
01 tl==2sae 13,198,400 0 13,198,400
OsAIgsEIIs &3 & 13,198,400
02 Oll===0IXtatet 2,953,562 2,745,364 208,198
OSgNaELEeI IS ti== O0lXtafat 2,953,562
dAF2LFHI(olagE) 100,428 9%,228 4,200
JlEddi(olatggat) 100,428 9,228 4,200
JlEZl(olatggat) 100,428 96,228 4,200
201 et 3| 48,000 45,900 2,100
01 At22t2l] 48,000 45,900 2,100
Otjlat2te| g2 =d 48,000
202 04l 48,000 45,900 2,100
01 2LHoIH 48,000 45,900 2,100
Oulatte|ge=d 48,000
203 HR=AH] 4,428 4,428
MU A2 LRFAI 4,428 4,428
Oularg g2 4,428




